

# Bunbury Senior High School



LOWER YEARS  
2026



26 F65 07 B

**ALL ORDERS MUST BE COMPLETED  
Online at  
[www.campion.com.au](http://www.campion.com.au)  
by  
Monday 15th December 2025  
Using "32PF" as your code**

**Orders can still be placed past the 'return date' but it may incur a late fee.**

## PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$10.00, if placed on or before the return date of Monday 15th December 2025.

Orders placed after the return date will incur additional charges. If ordering later, please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website [www.campion.com.au](http://www.campion.com.au) for up-to-date information on our trading hours and our full terms and conditions.

**Please tick the items required in the box provided** ↓

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
<b>LOWER YEARS</b>						
Bunbury Senior High School is a <b>BYOD (Bring Your Own Device)</b> school allowing students to access online services provided by the Department of Education - Please refer to the information on the <b>Bunbury SHS website</b> .						
<b>GENERAL STATIONERY</b>						
<b>ALL STUDENTS REQUIRE:</b>						
P54567	2026 Diary A5 Student Cumberland	1	<input type="checkbox"/>	1	2.25	2.25
P51685	Glue Stick 40gm Artline Clear	2	<input type="checkbox"/>	1	2.95	2.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	3	<input type="checkbox"/>	1	4.25	4.25
P53025	Marker Whiteboard Slim Barrel Dry Wipe Fine Black Show Me	4	<input type="checkbox"/>	2	2.95	5.90
P52352	Padlock Combination Abus 50mm <i>(if using a school locker)</i>	5	<input type="checkbox"/>	1	19.50	19.50
P56094	Pen Ballpoint Cap Type Black Medium	6	<input type="checkbox"/>	4	0.35	1.40
P56095	Pen Ballpoint Cap Type Blue Medium	7	<input type="checkbox"/>	4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	8	<input type="checkbox"/>	4	0.35	1.40
P52092	Pencil (2H) Goldfaber	9	<input type="checkbox"/>	4	0.80	3.20
P50496	Pencil (HB) Economy	10	<input type="checkbox"/>	2	0.25	0.50
P56252	Pencils-Coloured 12's Colourush	11	<input type="checkbox"/>	1	4.85	4.85
P56211	Pencil Case 345mm x 140mm Handy Pouch Mesh	12	<input type="checkbox"/>	1	3.95	3.95
P50090	Ruler 300mm Wooden Celco	13	<input type="checkbox"/>	1	1.10	1.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	14	<input type="checkbox"/>	1	14.05	14.05
RIGHT or LEFT Handed Scissors						
<b><u>Choose One</u></b>						
P50161	Scissors 170mm Maped Plastic Handle - OR -	15	<input type="checkbox"/>	1	2.45	2.45
P52399	Scissors 165mm Left Handed Green	16	<input type="checkbox"/>	1	2.70	2.70
Safety Glasses						
<b><u>Choose One</u></b>						
P56428	Safety Glasses Clear Wrap Around <i>(Designed with side shields and able to sit over prescription glasses)</i>	17	<input type="checkbox"/>	1	6.45	6.45
P60040	-OR- Safety Glasses Spectacle Honeywell Anti Fog <i>(Fitted Wrap Around Design - not suitable for use over prescription glasses)</i>	18	<input type="checkbox"/>	1	8.50	8.50
<b>CAREER EDUCATION YEARS 9-10</b>						
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	19	<input type="checkbox"/>	1	2.35	2.35
<b>DANCE</b>						
<i>A loose fitting shirt for Dance classes.</i>						
<b>DIGITAL ART IPAD YEAR 9</b>						
<i>Procreate Graphics Editor App - from App store.</i>						
<b>DRAMA</b>						
<i>Plain black, loose fitting clothing such as a t-shirt and track pants/ leggings for performance assessments.</i>						
P52495	Highlighters Pkt 4 Textsurfer Staedtler	20	<input type="checkbox"/>	1	8.50	8.50
P56451	Scrapbook 335x240mm 64 Page Spirax <i>(Year 10 students only)</i>	21	<input type="checkbox"/>	1	2.20	2.20
P56475	Sketch Book A3 20 leaf Perf Board Cover #533 Spirax <i>(Year 10 students only)</i>	22	<input type="checkbox"/>	1	5.40	5.40

**Please tick the items required in the box provided ↓**

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
<b>ENGLISH</b>						
P35302	Macquarie Little Dictionary [Macquarie Dictionary]	23	<input type="checkbox"/>	1	9.99	9.99
P65021	Document Wallet FC Polydoc Clear	24	<input type="checkbox"/>	2	2.50	5.00
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	25	<input type="checkbox"/>	4	1.40	5.60
P55097	Lever Arch File A4 75mm Board	26	<input type="checkbox"/>	1	5.95	5.95
<b>FINE ART/CRAFT YEAR 10</b>						
P55467	Document Wallet A3 PP Envelope With Stud	27	<input type="checkbox"/>	1	3.70	3.70
P56020	Paint Watercolor Micador Brilliant Discs 12's Assorted	28	<input type="checkbox"/>	1	22.95	22.95
P56130	Pen Felt Tip Fineliner Black	29	<input type="checkbox"/>	1	2.85	2.85
P56178	Pencil (2B) Mars Staedtler Lumograph	30	<input type="checkbox"/>	1	3.15	3.15
P56677	Visual Art Diary A3 60 Sheet 110gsm Spirax	31	<input type="checkbox"/>	1	10.75	10.75
<b>FOOD AND TEXTILES</b>						
<i>All students are required to bring a takeaway container to all cooking classes.</i>						
P55492	Document Wallet FC Slimpick Blue <i>(Year 7 students only)</i>	32	<input type="checkbox"/>	1	1.10	1.10
P55495	Document Wallet FC Slimpick Orange <i>(Year 8 students only)</i>	33	<input type="checkbox"/>	1	1.10	1.10
P55498	Document Wallet FC Slimpick Yellow <i>(Year 9 students only)</i>	34	<input type="checkbox"/>	1	1.10	1.10
P55494	Document Wallet FC Slimpick Green <i>(Year 10 students only)</i>	35	<input type="checkbox"/>	1	1.10	1.10
<b>FRENCH</b>						
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	36	<input type="checkbox"/>	2	1.40	2.80
P52224	Whiteboard Marker Black Bullet Dry Erase Quartet Flexi	37	<input type="checkbox"/>	2	2.00	4.00
<b>HEALTH EDUCATION</b>						
P55493	Document Wallet FC Slimpick Buff	38	<input type="checkbox"/>	1	1.10	1.10
<b>HUMANITIES &amp; SOCIAL SCIENCES</b>						
P50281	Document Envelope A4 PP With Press Stud Clear	39	<input type="checkbox"/>	1	1.25	1.25
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	40	<input type="checkbox"/>	2	1.80	3.60
P50208	Pencils-Coloured 12's Columbia	41	<input type="checkbox"/>	1	3.10	3.10
<b>MATHEMATICS</b>						
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	42	<input type="checkbox"/>	1	281.95	281.95
<b>Class Pad only required for students completing the YEAR 10 ATAR MATHEMATICS Course.</b>						
These students will be notified prior to the end of year.						
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	43	<input type="checkbox"/>	1	41.95	41.95
P65021	Document Wallet FC Polydoc Clear	44	<input type="checkbox"/>	1	2.50	2.50
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	45	<input type="checkbox"/>	3	1.80	5.40
<b>MUSIC - ALL COURSES</b>						
<i>All Music Students require Headphones, Music Manuscript Book and USB. Relevant Music Literacy Book is additional for Year 9 or Year 10.</i>						
P55687	Headset Multimedia With Volume Control	46	<input type="checkbox"/>	1	18.95	18.95
P50444	Music Book A4 96 Page Ruled & Staved Spirax 244	47	<input type="checkbox"/>	1	2.75	2.75
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	48	<input type="checkbox"/>	1	14.05	14.05
<b>PHYSICAL EDUCATION</b>						
<i>House Shirt - can be purchased from the BSHS Uniform Shop.</i>						

**Please tick the items required in the box provided** ↓

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
<b>SCIENCE</b>						
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax Safety Glasses required - see General Stationery	49	<input type="checkbox"/>	4	1.25	5.00
<b>VASP SPECIALIST ART YEAR 7 &amp; 8</b>						
P55467	Document Wallet A3 PP Envelope With Stud	50	<input type="checkbox"/>	1	3.70	3.70
P55515	Eraser Artist Kneadable	51	<input type="checkbox"/>	1	2.60	2.60
P56020	Paint Watercolor Micador Brilliant Discs 12's Assorted <i>(This item is only necessary to purchase every two or three years, depending on frequency of use. Replace as required.)</i>	52	<input type="checkbox"/>	1	22.95	22.95
P56130	Pen Felt Tip Fineliner Black	53	<input type="checkbox"/>	1	2.85	2.85
P56178	Pencil (2B) Mars Staedtler Lumograph	54	<input type="checkbox"/>	1	3.15	3.15
P52656	Visual Art Diary A3 125gsm 120 Sheet Elastic Closure <i>(Most students find that one A3 Visual Art Diary will last two or three years. It is not necessary to purchase every year.)</i>	55	<input type="checkbox"/>	1	29.50	29.50
P01036	Visual Diary Guide for Students Year 7&8 [Hilary Senhanli]	56	<input type="checkbox"/>	1	34.95	34.95
<b>VASP SPECIALIST ART YEAR 9 &amp; 10</b>						
P55467	Document Wallet A3 PP Envelope With Stud	57	<input type="checkbox"/>	1	3.70	3.70
P55515	Eraser Artist Kneadable	58	<input type="checkbox"/>	1	2.60	2.60
P56081	Marker Artline #200 Black 0.4mm	59	<input type="checkbox"/>	1	3.95	3.95
P56115	Marker Artline #210 Black 0.6mm	60	<input type="checkbox"/>	1	3.95	3.95
P56020	Paint Watercolor Micador Brilliant Discs 12's Assorted <i>(This item is only necessary to purchase every two or three years, depending on frequency of use. Replace as required.)</i>	61	<input type="checkbox"/>	1	22.95	22.95
P56178	Pencil (2B) Mars Staedtler Lumograph	62	<input type="checkbox"/>	1	3.15	3.15
P52656	Visual Art Diary A3 125gsm 120 Sheet Elastic Closure <i>(Most students find that one A3 Visual Art Diary will last two or three years. It is not necessary to purchase every year.)</i>	63	<input type="checkbox"/>	1	29.50	29.50
P01053	Visual Diary Guide for Students Year 9&10 [Hilary Senhanli]	64	<input type="checkbox"/>	1	34.95	34.95
<b>VISUAL ART GENERAL / CRAFT YEAR 7-9</b>						
P55467	Document Wallet A3 PP Envelope With Stud	65	<input type="checkbox"/>	1	3.70	3.70
P56081	Marker Artline #200 Black 0.4mm	66	<input type="checkbox"/>	1	3.95	3.95
P56115	Marker Artline #210 Black 0.6mm	67	<input type="checkbox"/>	1	3.95	3.95
P56020	Paint Watercolor Micador Brilliant Discs 12's Assorted <i>(This item is only necessary to purchase every two or three years, depending on frequency of use. Replace as required.)</i>	68	<input type="checkbox"/>	1	22.95	22.95
P56178	Pencil (2B) Mars Staedtler Lumograph	69	<input type="checkbox"/>	1	3.15	3.15
P51185	Pencils-Watercolour 12's Faber	70	<input type="checkbox"/>	1	9.35	9.35
P58197	Visual Art Diary A4 60 Sheet/120 Page 110gsm Spirax <i>(Most students find that one A4 Visual Art Diary will last two or three years. It is not necessary to purchase every year.)</i>	71	<input type="checkbox"/>	1	6.65	6.65

Number of Boxes ticked:

Postage (Home delivery only)

\$10.00

**ESTIMATED AMOUNT DUE**  
(PRICES CORRECT AT 24/11/25)

\$